EXISTENCE THEOREM OF AN OPERATOR-VALUED SEQUENTIAL FUNCTION SPACE INTEGRAL

KUL PHYO HONG

In this paper we prove that an operator-valued sequential function space integral exists under some conditions and we investigate its properties. First of all, we present some necessary notations and definitions.

Let N, R and R_+ denote the set of all positive integers, the set of all real numbers and the set of all positive real numbers, respectively. Let C, C_{+} and C_{+} denote, respectively, the set of all complex numbers, the set of all complex numbers with positive real part and the set of all nonzero complex numbers with nonnegative real part. Let C[a,b]denote the space of all real-valued continuous functions on [a, b] and let $C_0[a,b]$ denote the subspace of C[a,b] which vanishes at a; that is, the associated Wiener space. m_{ω} will denote Wiener measure on $C_0[a,b]$. In fact, every element y in C[a, b] has a unique representation $y = x + \xi$ where x in $C_0[a, b]$ and ξ in R. Let S[a, b] denote the space of all piecewise continuous functions on [a, b]. In this paper, we will be concerned with only the uniform topologies on C[a,b], $C_0[a,b]$ and S[a,b], and η will denote a Borel measure on [a, b]. Let $L^2(R)$ be the space of all C-valued Borel measurable functions on R which is square integrable with respect to Lebesgue measure m_L on R and let $\mathcal{L}(L^2(R))$ denote the space of all bounded linear operators from $L^2(R)$ into itself.

DEFINITION 1. For λ in C_+ , the operator C_{λ} from $L^2(R)$ into itself is defined by

$$(C_{\lambda}\psi)(\xi)=\lambda^{\frac{1}{2}}(2\pi)^{-\frac{1}{2}}\int_{R}\psi(x)\exp\Bigl\{-rac{\lambda(x-\xi)^{2}}{2}\Bigr\}dm_{L}(x)$$

where ψ in $L^2(R)$ and $\lambda^{\frac{1}{2}}$ takes a nonnegative real part.

Received June 18, 1992.

This work was supported by the faculty research fund. of Daelim Institution, 1991.

REMARKS. (1) C_{λ} is a bounded linear operator from $L^{2}(R)$ into itself with $||C_{\lambda}|| \leq 1$ [5; p 776] and $\{C_{\lambda}|\lambda \in C_{+} \bigcup \{0\}\}$ is a holomorphic semigroup where C_{λ} is the identity map if $\lambda = 0$ [8].

(2) For q in R_+ , $C_{-iq}^{\#} = C_{iq}$ where $C_{-iq}^{\#}$ is the adjoint operator of C_{-iq} [5; p 776].

DEFINITION 2. The mixed norm space $L_{\infty 1:\eta}^*$ is defined by the space of all C-valued Borel measurable functions θ on $[a,b] \times R$ such that

$$\| heta\|_{\infty 1:\eta} = \int_{[a,b]} \| heta(s,\cdot)\|_{\infty} d|\eta|(s) < +\infty$$

and θ is $|\eta| \times m_L$ -almost everywhere (a.e.) continuous on $[a, b] \times R$ where $|\eta|$ is the total variation measure of η .

REMARKS. (1) $\|\theta(s,\cdot)\|_{\infty}$ is a Borel measurable function of s in [a,b].

(2) Clearly $L_{\infty 1:\eta}^*$ equipped with the norm $\|\cdot\|_{\infty 1:\eta}$ becomes a normed linear space but not a Banach space.

DEFINITION 3. For s in [a, b] and for θ in $L^*_{\infty 1:\eta}$, we define the multiplication operator $\theta(s)$ from $L^2(R)$ into itself by

$$(\theta(s)\psi)(\xi) = \theta(s,\xi)\psi(\xi)$$
 for ψ in $L^2(R)$.

REMARKS. (1) The operator $\theta(s)$ is well-defined for η -a.e. s in [a, b] [4; p 8].

- (2) $\theta(s)$ is a strongly measurable function of s in [a, b] [8].
- (3) $\theta(s)$ is a bounded linear operator with $\|\theta(s)\| = \|\theta(s,\cdot)\|_{\infty}$ for η -a.e.s in [a,b] [6; p146, 4; p9].

Let $\sigma: a = t_0 < t_1 < t_2 < \cdots < t_n = b$ be any partition of [a, b], and the norm of σ , denoted by $\|\sigma\|$, equals $\max_{i=1,2,\cdots,n} (t_i - t_{i-1})$. For x in C[a, b], we define

$$x_{\sigma}(t) \equiv \begin{cases} x(t_{i-1}) & \text{if} \quad t_{i-1} \leq t < t_i \quad (i = 1, 2, \cdots, n) \\ x(b) & \text{if} \quad t = b. \end{cases}$$

If σ is given as in the above and $\{v_0, v_1, \dots, v_n\}$ is any set of (n+1) real numbers, we define the function

$$z(\sigma; v_0, v_1, \cdots, v_n; t) \equiv \left\{egin{array}{ll} v_{i-1} & ext{if} & t_{i-1} \leq t < t_i & (i=1, 2, \cdots, n) \ v_n & ext{if} & t=b. \end{array}
ight.$$

Clearly, x_{σ} and $z(\sigma; v_0, v_1, \dots, v_n; t)$ are in S[a, b]. And for a given functional F on S[a, b], $F_{\sigma}(v_0, v_1, \dots, v_n)$ is given by

$$f_{\sigma}(x(t_0),x(t_1),\cdots,x(t_n)) \equiv F\left[z(\sigma;x(t_0),x(t_1),\cdots,x(t_n);\cdot)\right]$$

for x in C[a, b].

Let θ be in $L_{\infty 1:n}^*$ and let σ be given as in the above. Let

$$F(x) = \int_{[a,b]} \theta(s,x(s)) d\eta(s)$$
 for x in $S[a,b]$.

Then F is well-defined on S[a, b]. In fact,

$$f_{\sigma}(x(t_0), x(t_1), \cdots, x(t_n)) = \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, x(t_{i-1})) d\eta(s) + \theta(b, x(b)) \eta(\{b\}).$$

Hence for λ in R_+ and for each ψ in $L^2(R)$, by the Wiener integration formula and the change of variables $v_i = \lambda^{-\frac{1}{2}} u_i + v_0$ $(i = 1, 2, \dots, n)$, we have

$$\begin{split} \lambda^{\frac{n}{2}} \left[(2\pi)^{n} (t_{1} - a) \cdots (t_{n} - t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} f_{\sigma}(v_{0}, v_{1}, \cdots, v_{n}) \psi(v_{n}) \cdot \\ & \cdot \exp \left\{ -\sum_{i=1}^{n} \frac{\lambda(v_{i} - v_{i-1})^{2}}{2(t_{i} - t_{i-1})} \right\} d_{i=1}^{n} m_{L}(v_{i}) \\ = \left[(2\pi)^{n} (t_{1} - a) \cdots (t_{n} - t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} f_{\sigma}(v_{0}, \lambda^{-\frac{1}{2}} u_{1} + v_{0}, \cdots, \lambda^{-\frac{1}{2}} u_{n} + v_{0}) \cdot \\ & \cdot \psi(\lambda^{-\frac{1}{2}} u_{n} + v_{0}) \exp \left\{ -\sum_{i=1}^{n} \frac{(u_{i} - u_{i-1})^{2}}{2(t_{i} - t_{i-1})} \right\} d_{i=1}^{n} m_{L}(u_{i}) \\ = \int_{C_{0}[a,b]} F(\lambda^{-\frac{1}{2}} x_{\sigma} + v_{0}) \ \psi(\lambda^{-\frac{1}{2}} x(b) + v_{0}) dm_{\omega}(x) \quad \text{where} \quad u_{0} = 0. \end{split}$$

Now we present the following definitions from the motivation specified above.

DEFINITION 4. Let λ be in C_+ and let ψ be in $L^2(R)$. Let F be a C-valued functional on S[a, b]. For a given partition $\sigma : a = t_0 < t_1 < \cdots < t_n = b$, the operator $I^{\sigma}_{\lambda}(F)$ is defined by the formula

$$(I_{\lambda}^{\sigma}(F)\psi)(\xi) = \lambda^{\frac{n}{2}} \left[(2\pi)^{n} (t_{1} - a) \cdots (t_{n} - t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} f_{\sigma}(v_{0}, v_{1}, \cdots, v_{n}) \cdot \psi(v_{n}) \exp \left\{ -\sum_{i=1}^{n} \frac{\lambda(v_{i} - v_{i-1})^{2}}{2(t_{i} - t_{i-1})} \right\} d \underset{i=1}{\overset{n}{X}} m_{L}(v_{i})$$

where $v_0 = \xi$, $f_{\sigma}(v_0, v_1, \dots, v_n) = F\left[z(\sigma; v_0, v_1, \dots, v_n; \cdot)\right]$ and $z(\sigma; v_0, v_1, \dots, v_n; t)$ is defined as in the above. (If n is odd, we always choose $\lambda^{-\frac{1}{2}}$ with nonnegative real part). Let λ be in C_+ and let F be a functional on S[a, b] such that $I_{\lambda}^{\sigma}(F)\psi$ exists for ψ in $L^2(R)$ and for every partition σ of [a, b]. If

$$\lim_{\|\sigma\|\to 0} \int_{R} (I_{\lambda}^{\sigma}(F)\psi)(\xi) \overline{\phi(\xi)} \, dm_{L}(\xi)$$

exists for all ψ, ϕ in $L^2(R)$, then this weak limit, $w = \lim_{\|\sigma\| \to 0} I_{\lambda}^{\sigma}(F)$ is called the *operator-valued sequential function space integral* of F for λ in C^+ and denoted by $I_{\lambda}^{seq}(F)$; i.e.,

$$\left(I_{\lambda}^{seq}(F)\psi,\phi\right)=\lim_{\|\sigma\|\to 0}\!\left(I_{\lambda}^{\sigma}(F)\psi,\phi\right)$$

where the parenthesis (\cdot, \cdot) denotes inner product.

DEFINITION 5. Let λ be in R_+ and let ψ be in $L^2(R)$. Let F be a C-valued functional on C[a, b]. Then the operator $I_{\lambda}(F)$ is defined by the Wiener integral

$$\big(I_{\lambda}(F)\psi\big)(\xi) = \int_{C_0[a,b]} F\big(\lambda^{-\frac{1}{2}}x + \xi\big)\psi\big(\lambda^{-\frac{1}{2}}x(b) + \xi\big)dm_{\omega}(x).$$

For λ in C_+ , the operator-valued analytic function space integral of F, $I_{\lambda}^{an}(F)$ is defined to be the operator-valued function of λ which agree with $I_{\lambda}(F)$ for λ in R_+ and is analytic on C_+ .

By the Fubini's Theorem and the Wiener integration formula, we have the following two lemmas [1] LEMMA 6. If $\theta(s,u)$ is $\eta \times m_L$ -a.e. continuous on $[a,b] \times R$, then for almost all x in $C_0[a,b]$, $\theta(s,x(s))$ is continuous for η -a.e. s in [a,b].

LEMMA 7. Let $\theta(s, u)$ be $\eta \times m_L$ -a.e. continuous on $[a, b] \times R$ and let λ be in R_+ . Then for $\eta \times m_L$ -a.e. (x, ξ) in $C_0[a, b] \times R$, $\theta(s, \lambda^{-\frac{1}{2}}x(s) + \xi)$ is continuous for η -a.e. s in [a, b].

From [1; p 532], we have the following;

LEMMA 8. Let $\{x_n(z)\}$ be a sequence of vector-valued holomorphic functions in a domain D of the complex plane whose values lie in a separable Hilbert space H. Let $||x_n(z)|| \leq B$ for z in D. Let $\{z_k\}$ be a sequence of distinct points of D such that $\lim_{k\to\infty} z_k = z_0$ in D. Let $\lim_{n\to\infty} (x_n(z_k), y)$ exist for each y in H and each k. Then there exists x(z) in H such that $\lim_{n\to\infty} (x_n(z), y) = (x(z), y)$ and x(z) is holomorphic in D and $\lim_{n\to\infty} (x_n(z), y) = (x(z), y)$ uniformly on any compact subset of D for each y in H.

THEOREM 9. Let θ be in $L_{\infty 1:\eta}^*$ and let

$$F(x) = \int_{[a,b]} \theta(s,x(s)) d\eta(s)$$
 for x in $S[a,b]$.

Then the operator-valued sequential function space integral of F^m , $I_{\lambda}^{seq}(F^m)$ exists for λ in C_+ and for m in N, and $\left(I_{\lambda}^{seq}(F^m)\psi,\phi\right)=\lim_{\|\sigma\|\to 0}\left(I_{\lambda}^{\sigma}(F^m)\psi,\phi\right)$ for all ψ , ϕ in $L^2(R)$. Moreover, $I_{\lambda}^{seq}(F^m)=I_{\lambda}^{an}(F^m)$.

Proof. Let $\sigma : a = t_0 < t_1 < \cdots < t_n = b$ be a given partition of [a, b]. Then F^m is well-defined on S[a, b]. In fact,

$$f_{\sigma}^{m}(x(t_{0}), x(t_{1}), \cdots, x(t_{n}))$$

$$= F^{m}[z(\sigma; x(t_{0}), x(t_{1}), \cdots, x(t_{n}); \cdot)]$$

$$= \left[\sum_{i=1}^{n} \int_{[t_{i-1}, t_{i})} \theta(s, x(t_{i-1})) d\eta(s) + \theta(b, x(b)) \eta(\{b\})\right]^{m}.$$

Thus we have formally that for λ in R_+ and for ψ in $L^2(R)$,

$$\begin{split} & \left(I_{\lambda}^{\sigma}(F^{m})\psi\right)(\xi) \\ &= \lambda^{\frac{n}{2}} \left[(2\pi)^{n}(t_{1}-a)\cdots(t_{n}-t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} f_{\sigma}^{m}(v_{0},v_{1},\cdots,v_{n}) \cdot \\ & \cdot \psi(v_{n}) \exp \left\{ -\sum_{i=1}^{n} \frac{\lambda(v_{i}-v_{i-1})^{2}}{2(t_{i}-t_{i-1})} \right\} d_{i=1}^{n} m_{L}(v_{i}) \\ &= \left[(2\pi)^{n}(t_{1}-a)\cdots(t_{n}-t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} f_{\sigma}^{m}(v_{0},\lambda^{-\frac{1}{2}}u_{1}+v_{0},\cdots,\lambda^{-\frac{1}{2}}u_{n}+v_{0}) \cdot \\ & \cdot \psi(\lambda^{-\frac{1}{2}}u_{n}+v_{0}) \exp \left\{ -\sum_{i=1}^{n} \frac{(u_{i}-u_{i-1})^{2}}{2(t_{i}-t_{i-1})} \right\} d_{i=1}^{n} m_{L}(u_{i}) \\ &= \int_{C_{0}[a,b]} F^{m}(\lambda^{-\frac{1}{2}}x_{\sigma}+v_{0}) \ \psi(\lambda^{-\frac{1}{2}}x(b)+v_{0}) dm_{\omega}(x) \end{split}$$

where $u_0 = 0$ and $v_0 = \xi$; that is,

$$(I_{\lambda}^{\sigma}(F^{m})\psi)(\xi) = (I_{\lambda}(F_{\sigma}^{m})\psi)(\xi)$$
 for λ in R_{+} .

Next we will show that $\lim_{\|\sigma\|\to 0} (I^{\sigma}_{\lambda}(F^m)\psi, \phi)$ exists and equals $(I_{\lambda}(F^m)\psi, \phi)$ for λ in C_+ . For λ in R_+ and for ψ, ϕ in $L^2(R)$,

$$\begin{split} &\lim_{\|\sigma\|\to 0} \left(I_{\lambda}^{\sigma}(F^{m})\psi,\phi\right) \\ &= \lim_{\|\sigma\|\to 0} \int_{R} \left(I_{\lambda}^{\sigma}(F^{m})\psi\right)(\xi)\overline{\phi(\xi)}\,dm_{L}(\xi) \\ &= \lim_{\|\sigma\|\to 0} \int_{R} \int_{C_{0}[a,b]} F^{m}(\lambda^{-\frac{1}{2}}x_{\sigma} + \xi)\;\psi(\lambda^{-\frac{1}{2}}x(b) + \xi)\;\overline{\phi(\xi)}\,dm_{\omega}(x)\,dm_{L}(\xi) \end{split}$$

Existence theorem of an operator-valued sequential function space integral 127

$$\begin{split} &\stackrel{(I)}{=} \int_{R} \lim_{\|\sigma\| \to 0} \int_{C_{0}[a,b]} F^{m}(\lambda^{-\frac{1}{2}}x_{\sigma} + \xi) \ \psi(\lambda^{-\frac{1}{2}}x(b) + \xi) \ \overline{\phi(\xi)} \ dm_{\omega}(x) \ dm_{L}(\xi) \\ &\stackrel{(II)}{=} \int_{R} \int_{C_{0}[a,b]} \lim_{\|\sigma\| \to 0} F^{m}(\lambda^{-\frac{1}{2}}x_{\sigma} + \xi) \ \psi(\lambda^{-\frac{1}{2}}x(b) + \xi) \ \overline{\phi(\xi)} \ dm_{\omega}(x) \ dm_{L}(\xi) \\ &\stackrel{(III)}{=} \int_{R} \int_{C_{0}[a,b]} F^{m}(\lambda^{-\frac{1}{2}}x + \xi) \ \psi(\lambda^{-\frac{1}{2}}x(b) + \xi) \ \overline{\phi(\xi)} \ dm_{\omega}(x) \ dm_{L}(\xi) \\ &= \int_{R} (I_{\lambda}(F^{m})\psi)(\xi) \overline{\phi(\xi)} \ dm_{L}(\xi) \\ &= (I_{\lambda}(F^{m})\psi, \phi). \end{split}$$

Steps (I) and (II) result from the dominated convergence Theorem since $|F^m(\lambda^{-\frac{1}{2}}x_{\sigma}+\xi)| \leq (\|\theta\|_{\infty^{1}:\eta})^m$ and $|\psi(\lambda^{-\frac{1}{2}}x(b)+\xi)|$ is Wiener integrable. Step (III) is obtained from the fact that

$$\lim_{\|\sigma\|\to 0} F^m(x_\sigma) = F^m(x)$$

since $\int_{[a,b]} \theta(s,x_{\sigma}(s)) d\eta(s) \leq \int_{[a,b]} \|\theta(s,\cdot)\|_{\infty} d|\eta|(s) < +\infty$, and $\theta(s,x(s))$ is continuous for η -a.e. s in [a,b] from Lemma 6.

Using the Morera's Theorem, we can conclude that $(I_{\lambda}^{\sigma}(F^m)\psi, \phi)$ is holomorphic for λ in C_+ and so $I_{\lambda}^{\sigma}(F^m)\psi$ is holomorphic for λ in C_+ because the uniform analyticity is equivalent to the weak analyticity [8; p 189].

Consider the sequence $\{I_{\lambda}^{\sigma}(F^m)\psi\}$ of holomorphic functions. It is obvious that $\|I_{\lambda}^{\sigma}(F^m)\psi\| \leq (\|\theta\|_{\infty^{1:\eta}})^m\|\psi\|$. Let $\{\lambda_n\}$ be a sequence of distinct points of R_+ such that $\lim_{n\to\infty} \lambda_n = \lambda$ in R_+ . Then there exists $\lim_{\|\sigma\|\to 0} \left(I_{\lambda_n}^{\sigma}(F^m)\psi,\phi\right)$ for each ϕ in $L^2(R)$ and for each n in N. Therefore there exists the operator-valued sequential function space integral $I_{\lambda}^{seq}(F^m)$ such that $\left(I_{\lambda}^{seq}(F^m)\psi,\phi\right) = \lim_{\|\sigma\|\to 0} \left(I_{\lambda}^{\sigma}(F^m)\psi,\phi\right)$ and $I_{\lambda}^{seq}(F^m)\psi$ is holomorphic by Lemma 8. It follows from the uniqueness Theorem for a holomorphic function $[3;p\ 97]$ that $I_{\lambda}^{seq}(F^m) = I_{\lambda}^{an}(F^m)$ for λ in C_+ .

THEOREM 10. Let $\sigma: a = t_0 < t_1 < t_2 < \cdots < t_n = b$ be a given partition of [a, b]. Let θ be in $L_{\infty 1:n}^*$ and let F be defined as in Theorem

9. If η is continuous on [a,b]; that is, $\eta(\{\tau\}) = 0$ for each τ in [a,b], then for λ in C_+ and for ψ in $L^2(R)$, $I^{\sigma}_{\lambda}(F^m)\psi$ is in $\mathcal{L}(L^2(R))$ and

$$\Big(I^{\sigma}_{\lambda}(F^{m})\psi\Big)(\xi) = m! \sum_{\substack{k_{1}+k_{2}+\cdots+k_{n}=m\\k_{i}>0}} \int_{\prod\limits_{i=1}^{n} \Delta_{[t_{i-1},t_{i}),k_{i}}} \left(\mathcal{L}_{\sigma}\circ\psi\right)(\xi) \, d\overset{n}{\underset{i=1}{X}} \overset{k_{i}}{\underset{v=1}{X}} \eta(s_{i-1,v})$$

where $\Delta_{[t_{i-1},t_i),k_i} = \{(s_{i-1,1},s_{i-1,2},\cdots,s_{i-1,k_i}) \in [t_{i-1},t_i)^{k_i} | t_{i-1} < s_{i-1,1} < s_{i-1,2} < \cdots < s_{i-1,k_i} < t_i\} \text{ for } i = 1,2,\cdots,n \text{ and the composition operator,}$ $\mathcal{L}_{\sigma} = \theta(s_{0,1}) \circ \theta(s_{0,2}) \circ \cdots \circ \theta(s_{0,k_1}) \circ C_{\frac{\lambda}{t_1-t_0}} \circ \theta(s_{1,1}) \circ \theta(s_{1,2}) \circ \cdots \circ \theta(s_{1,k_2}) \circ C_{\frac{\lambda}{t_2-t_1}} \circ \cdots \circ C_{\frac{\lambda}{t_{n-1}-t_{n-2}}} \circ \theta(s_{n-1,1}) \circ \theta(s_{n-1,2}) \circ \cdots \circ \theta(s_{n-1,k_n}) \circ C_{\frac{\lambda}{t_n-t_{n-1}}} \circ (s_{i-1,1},s_{i-1,2},\cdots,s_{i-1,k_i}) \text{ in } \Delta_{[t_{i-1},t_i),k_i}. \text{ Moreover}$

$$||I_{\lambda}^{\sigma}(F^m)|| \le (||\theta||_{\infty 1:\eta})^m$$
 for λ in C_+ .

Proof. Let λ be in C_+ and let ψ be in $L^2(R)$. Then

$$\begin{split} & \left(I_{\lambda}^{\sigma}(F^{m})\psi\right)(\xi) \\ & \stackrel{(1)}{=} \lambda^{\frac{n}{2}} \left[(2\pi)^{n}(t_{1}-a)\cdots(t_{n}-t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} \left[\sum_{i=1}^{n} \int_{[t_{i-1},t_{i})} \theta(s,u_{i-1}) \, d\eta(s) \right]^{m} \cdot \\ & \cdot \psi(u_{n}) \exp\left\{ -\sum_{i=1}^{n} \frac{\lambda(u_{i}-u_{i-1})^{2}}{2(t_{i}-t_{i-1})} \right\} d \underset{i=1}{\overset{n}{X}} m_{L}(u_{i}) \\ & \stackrel{(2)}{=} \lambda^{\frac{n}{2}} \left[(2\pi)^{n}(t_{1}-a)\cdots(t_{n}-t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} \sum_{\substack{k_{1}+k_{2}+\cdots+k_{n}=m \\ k_{i}\geq 0}} \frac{m!}{k_{1}!k_{2}!\cdots k_{n}!} \cdot \\ & \cdot \prod_{i=1}^{n} \left(\int_{[t_{i-1},t_{i})} \theta(s,u_{i-1}) \, d\eta(s) \right)^{k_{i}} \psi(u_{n}) \exp\left\{ -\sum_{i=1}^{n} \frac{\lambda(u_{i}-u_{i-1})^{2}}{2(t_{i}-t_{i-1})} \right\} d \underset{i=1}{\overset{n}{X}} m_{L}(u_{i}) \end{split}$$

$$\frac{(3)}{3} \lambda^{\frac{n}{2}} \left[(2\pi)^{n} (t_{1} - a) \cdots (t_{n} - t_{n-1}) \right]^{-\frac{1}{2}} \int_{R^{n}} \sum_{k_{1} + k_{2} + \cdots + k_{n} = m} m! \cdot \int_{\substack{i=1 \\ i=1}}^{n} \prod_{i=1}^{k_{i}} \theta(s_{i-1,v}, u_{i-1}) d X X X X \eta(s_{i-1,v}) \psi(u_{n}) \cdot \exp\left\{ -\sum_{i=1}^{n} \frac{\lambda(u_{i} - u_{i-1})^{2}}{2(t_{i} - t_{i-1})} \right\} d X M L(u_{i})$$

$$\frac{(4)}{2} m! \sum_{\substack{k_{1} + k_{2} + \cdots + k_{n} = m}} \int_{\substack{i=1 \\ i=1}}^{n} \sum_{\substack{i=1 \\ i=1}}^{n} \lambda^{\frac{1}{2}} \left[(2\pi)^{n} (t_{1} - a) \cdots (t_{n} - t_{n-1}) \right]^{-\frac{1}{2}} \cdot \int_{R^{n}} \prod_{i=1}^{n} \sum_{\substack{i=1 \\ i=1}}^{n} \theta(s_{i-1,v}, u_{i-1}) \psi(u_{n}) \exp\left\{ -\sum_{i=1}^{n} \frac{\lambda(u_{i} - u_{i-1})^{2}}{2(t_{i} - t_{i-1})} \right\} d X M L(u_{i}) \cdot \int_{R^{n}} \prod_{i=1}^{n} \frac{\lambda(s_{i-1,v}, u_{i-1}) \psi(u_{n}) \exp\left\{ -\sum_{i=1}^{n} \frac{\lambda(u_{i} - u_{i-1})^{2}}{2(t_{i} - t_{i-1})} \right\} d X M L(u_{i}) \cdot d X X X \eta(s_{i-1,v})$$

$$\frac{(5)}{2} m! \sum_{\substack{k_{1} + k_{2} + \cdots + k_{n} = m}} \int_{\prod_{i=1}^{n}} \frac{\lambda(t_{i-1,t_{i}}, t_{i})}{\prod_{i=1}^{n}} \left(\mathcal{L}_{\sigma} \circ \psi \right) (\xi) d X X X \eta(s_{i-1,v})$$

$$\frac{(5)}{2} m! \sum_{\substack{k_{1} + k_{2} + \cdots + k_{n} = m}} \int_{\prod_{i=1}^{n}} \frac{\lambda(t_{i-1,t_{i}}, t_{i})}{\prod_{i=1}^{n}} \left(\mathcal{L}_{\sigma} \circ \psi \right) (\xi) d X X X \eta(s_{i-1,v})$$

where $u_0 = \xi$. Step (1) result from the continuity of η and the definition of $I_{\lambda}^{\sigma}(F^m)$. By the multinomial expansion, we have Step (2). Let $A_{\alpha,\beta} = \{(s_{i-1,1},s_{i-1,2},\cdots,s_{i-1,k_i}) \in [t_{i-1},t_i)^{k_i} | s_{i-1,\alpha} = s_{i-1,\beta}\}$. Then by the Fubini's Theorem, $A_{\alpha,\beta}$ is a $X \atop v=1$ $\eta(s_{i-1,v})$ - null set. Let P_{k_i} be the set of all permutations of $\{1,2,\cdots,k_i\}$ and let for τ in P_{k_i} , $\Delta_{\tau(k_i)} = \{(s_{i-1,1},s_{i-1,2},\cdots,s_{i-1,k_i}) \in [t_{i-1},t_i)^{k_i} | t_{i-1} < s_{i-1,\tau(1)} < s_{i-1,\tau(2)} < \cdots < s_{i-1,\tau(k_i)} < t_i\}$. Then $[t_{i-1},t_i)^{k_i} = [\bigcup_{\tau \in P_k} \Delta_{\tau(k_i)}] \bigcup [\bigcup_{1 \leq \alpha \neq \beta \leq k_i} A_{\alpha,\beta}]$.

Since the integrand is invariant under permutations of s-variables, the integrals over the k_i ! simplexes are equal [4]. Hence Step (3) follows. From the Fubini's Theorem, we obtain Step (4) which will be justified below in conjunction with the proof of the norm estimate. Using Definitions 1 and 3, Step (5) is valid.

Moreover

$$\begin{split} & \|I_{\lambda}^{\sigma}(F^{m})\psi\| \\ = & \|m! \sum_{k_{1}+k_{2}+\cdots+k_{n}=m} \int_{\prod_{i=1}^{n} \Delta_{[t_{i-1},t_{i}),k_{i}}} (\mathcal{L}_{\sigma} \circ \psi) d \overset{\sharp}{X} \overset{k_{i}}{X} \eta(s_{i-1,v}) \| \\ \leq & m! \sum_{k_{1}+k_{2}+\cdots+k_{n}=m} \int_{\prod_{i=1}^{n} \Delta_{[t_{i-1},t_{i}),k_{i}}} \prod_{i=1}^{n} \prod_{v=1}^{n} \|\theta(s_{i-1,v})\| \|\psi\| d \overset{n}{X} \overset{k_{i}}{X} |\eta|(s_{i-1,v}) \\ = & \sum_{k_{1}+k_{2}+\cdots+k_{n}=m} \frac{m!}{k_{1}!k_{2}!\cdots k_{n}!} k_{1}!k_{2}!\cdots k_{n}! \int_{\prod_{i=1}^{n} \Delta_{[t_{i-1},t_{i}),k_{i}}} \prod_{i=1}^{n} \prod_{v=1}^{k_{i}} \cdot \\ & \cdot \|\theta(s_{i-1,v})\| \|\psi\| d \overset{n}{X} \overset{k_{i}}{X} |\eta|(s_{i-1,v}) \\ = & \sum_{k_{1}+k_{2}+\cdots+k_{n}=m} \frac{m!}{k_{1}!k_{2}!\cdots k_{n}!} \prod_{i=1}^{n} \left(\int_{[t_{i-1},t_{i})} \|\theta(s)\| d|\eta|(s) \right)^{k_{i}} \|\psi\| \\ = & \left(\int_{[a,b)} \|\theta(s)\| d|\eta|(s) \right)^{m} \|\psi\| \\ \leq & \left(\|\theta\|_{\infty 1:\eta} \right)^{m} \|\psi\| \\ \leq & \left(\|\theta\|_{\infty 1:\eta} \right)^{m} \|\psi\| \\ < & + \infty \end{split}$$

Step (I) follows from the Remark (1) of Definition 1 and the generalized Minkowski's inequality. Steps (II),(III) and (IV) follow from the reversed process of the calculation above. From the Remark (3) of Definition 3, we have Step (V). By the result above, we have $I_{\lambda}^{\sigma}(F^m)\psi$ is in $L^2(R)$; i.e., $I_{\lambda}^{\sigma}(F^m)\psi$ is in $\mathcal{L}(L^2(R))$.

Finally, letting $F(x) = \int_{[a,b]} \|\theta(s,\cdot)\|_{\infty} d|\eta|(s)$, we have $(I_{\lambda}^{\sigma}(F)|\psi|)(\xi) \le \|\theta\|_{\infty 1:\eta} C_{\frac{\lambda}{b-a}} |\psi|(\xi)$. This justifies the use of the Fubini's Theorem in Step (4) above.

In [4; p 22], it is shown that for
$$F^m(x) = \left(\int_{(a,b)} \theta(s,x(s)) d\eta(s)\right)^m$$

Existence theorem of an operator-valued sequential function space integral 131

on x in C[a, b], $I_{\lambda}^{an}(F^m)$ exists for λ in C_{+}^{∞} and

$$I_{\lambda}^{an}(F^m) = m! \int_{\Delta_m} \mathcal{L} d \underset{i=1}{\overset{m}{X}} \eta(s_i)$$

where $\Delta_m = \{(s_1, s_2, \dots, s_m) \in (a, b)^m | a < s_1 < s_2 < \dots < s_m < b\}$ and

$$\mathcal{L} = C_{\frac{\lambda}{s_1 - a}} \circ \theta(s_1) \circ C_{\frac{\lambda}{s_2 - s_1}} \circ \theta(s_2) \circ \cdots \circ C_{\frac{\lambda}{s_m - s_{m-1}}} \circ \theta(s_m) \circ C_{\frac{\lambda}{b - s_m}}$$

for (s_1, s_2, \cdots, s_m) in Δ_m .

From the result above and Theorems 9 and 10, we have the following Theorem;

THEOREM 11. Under the same assumptions and notations as in the above,

$$w - \lim_{\|\sigma\| \to 0} \sum_{\substack{k_1 + k_2 + \dots + k_n = m \\ k_i > 0}} \int_{\prod_{i=1}^n \Delta_{[t_{i-1}, t_i), k_i}} \mathcal{L}_{\sigma} d \underset{i=1}{\overset{k_i}{X}} \underset{v=1}{\overset{k_i}{X}} \eta(s_{i-1, v}) = \int_{\Delta_m} \mathcal{L} d \underset{i=1}{\overset{m}{X}} \eta(s_i).$$

DEFINITION 12. For θ in $L^*_{\infty 1:\eta}$, let \mathcal{M}_{θ} be the set of all functionals G on S[a, b] of the form

$$G(x) = \sum_{m=0}^{\infty} a_m \left(\int_{[a,b]} \theta(s,x(s)) d\eta(s) \right)^m$$

such that $g(z) = \sum_{m=0}^{\infty} a_m z^m$ is an analytic function with the radius of convergence greater than $\|\theta\|_{\infty 1:\eta}$. For G in \mathcal{M}_{θ} , we define the norm of G

$$||G|| = \sum_{m=0}^{\infty} |a_m| (||\theta||_{\infty 1:\eta})^m.$$

REMARK. We can easily check that $(\mathcal{M}_{\theta}, \|\cdot\|)$ is a normed linear space for each θ in $L_{\infty 1:\eta}^*$.

THEOREM 13. Let G be in \mathcal{M}_{θ} such that

$$G(x) = \sum_{m=0}^{\infty} a_m \left(\int_{[a,b]} \theta(s,x(s)) \, d\eta(s) \right)^m.$$

Then for λ in C_+ , $I_{\lambda}^{seq}(G)$ exists in $\mathcal{L}(L^2(R))$ and equals $\sum_{m=0}^{\infty} a_m I_{\lambda}^{seq}(F^m)$

in the uniform operator topology where F(x) is given as in Theorem 9.

Proof. Let λ be in C_+ and let σ : $a = t_0 < t_1 < t_2 < \cdots < t_n = b$ be a given partition of [a, b]. Then

$$(I_{\lambda}^{\sigma}(G)\psi)(\xi)$$

$$\stackrel{(1)}{=} \lambda^{\frac{n}{2}} \left[(2\pi)^{n} (t_{1} - a) \cdots (t_{n} - t_{n-1}) \right]^{-\frac{1}{2}} \int_{\mathbb{R}^{n}} \sum_{m=0}^{\infty} a_{m} \left\{ \sum_{i=1}^{n} \int_{[t_{i-1}, t_{i})} \theta(s, u_{i-1}) d\eta(s) + \theta(b, u_{n}) \eta(\{b\}) \right\}^{m} \psi(u_{n}) \exp \left\{ -\sum_{i=1}^{n} \frac{\lambda(u_{i} - u_{i-1})^{2}}{2(t_{i} - t_{i-1})} \right\} d_{i=1}^{n} m_{L}(u_{i})$$

$$\stackrel{(2)}{=} \sum_{m=0}^{\infty} a_m \lambda^{\frac{n}{2}} \left[(2\pi)^n (t_1 - a) \cdots (t_n - t_{n-1}) \right]^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i)} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i]} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i]} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i]} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \cdots (t_n - t_{n-1}) \right\}^{-\frac{1}{2}} \int_{\mathbb{R}^n} \left\{ \sum_{i=1}^n \int_{[t_{i-1}, t_i]} \theta(s, u_{i-1}) \cdots (t_n - t_{n-1}) \cdots (t$$

$$\cdot d\eta(s) + \theta(b, u_n)\eta(\{b\}) \Big\}^{m} \psi(u_n) \exp \Big\{ - \sum_{i=1}^{n} \frac{\lambda(u_i - u_{i-1})^2}{2(t_i - t_{i-1})} \Big\} d \prod_{i=1}^{n} m_L(u_i)$$

$$\stackrel{(3)}{=} \sum_{m=0}^{\infty} a_m \big(I_{\lambda}^{\sigma}(F^m) \psi \big) (\xi)$$

Steps (1) and (3) result from the definition of the operator-valued sequential function space integral. Since the integrand in the right-hand side of the equality (1) is dominated by

$$\sum_{m=0}^{\infty} |a_m| (\|\theta\|_{\infty 1:\eta})^m \exp\{-\sum_{i=1}^n \frac{(Re\lambda)(u_i - u_{i-1})^2}{2(t_i - t_{i-1})}\} |\psi(u_n)|,$$

we obtain Step (2) from the dominated convergence Theorem. Let ψ and ϕ be in $L^2(R)$. Because $\sum_{m=0}^{\infty} |a_m| (\|\theta\|_{\infty^{1:\eta}})^m \|\psi\| \|\phi\|$ is a convergent

series, the double sequence $\left\{\sum_{m=0}^{\infty} a_m \left(I_{\lambda}^{\sigma}(F^m)\psi, \phi\right)\right\}$ converges uniformly for k in N [2; p 28]; that is,

$$\lim_{k\to\infty}\lim_{\|\sigma\|\to 0}\sum_{m=0}^k a_m\big(I_\lambda^\sigma(F^m)\psi,\phi\big)=\lim_{\|\sigma\|\to 0}\sum_{m=0}^\infty a_m\big(I_\lambda^\sigma(F^m)\psi,\phi\big).$$

By the previous results, we have

$$\left(\sum_{m=0}^{\infty} a_m I_{\lambda}^{seq}(F^m) \psi, \phi\right)$$

$$= \lim_{k \to \infty} \left(\sum_{m=0}^{k} a_m \lim_{\|\sigma\| \to 0} I_{\lambda}^{\sigma}(F^m) \psi, \phi\right)$$

$$= \lim_{\|\sigma\| \to 0} \left(\sum_{m=0}^{\infty} a_m I_{\lambda}^{\sigma}(F^m) \psi, \phi\right)$$

$$= \lim_{\|\sigma\| \to 0} \left(I_{\lambda}^{\sigma}(G) \psi, \phi\right) \quad \text{for } \psi, \phi \text{ in } L^2(R).$$

Hence $I_{\lambda}^{seq}(G) = w - \lim_{\|\sigma\| \to 0} I_{\lambda}^{\sigma}(G)$ exists and we obtain

$$I_{\lambda}^{seq}(G) = \sum_{m=0}^{\infty} a_m I_{\lambda}^{seq}(F^m).$$

We have the following corollary directly from Theorems 10 and 13 by letting $a_m = \frac{1}{m!}$ in the infinite series representation of G in \mathcal{M}_{θ} .

COROLLARY 14. For θ in $L^*_{\infty 1:\eta}$, let

$$H(x) = \exp\Bigl(\int_{[a,b]} \theta\bigl(s,x(s)\bigr) \, d\eta(s)\Bigr) \ \ on \ \ S[a,b].$$

Then $I_{\lambda}^{seq}(H)$ exists for λ in C_+ . If η is continuous on [a,b], then

$$I_{\lambda}^{seq}(H) = w - \lim_{\|\sigma\| \to 0} \sum_{m=0}^{\infty} \sum_{\substack{k_1 + k_2 + \dots + k_n = m \\ k_i > 0}} \int_{\prod_{i=1}^{n} \Delta_{[t_{i-1}, t_i), k_i}} \mathcal{L}_{\sigma} \, d \underset{i=1}{\overset{k_i}{\underset{v=1}{X}}} \eta(s_{i-1, v})$$

where \mathcal{L}_{σ} is as in Theorem 10.

For θ in $L^*_{\infty 1:\eta}$ and for λ in C_+ , consider a mapping $I_{\lambda,\theta}: \mathcal{M}_{\theta} \longrightarrow \mathcal{L}(L^2(R))$ with $I_{\lambda,\theta}(G) = I_{\lambda}^{seq}(G)$ for G in \mathcal{M}_{θ} . Then by the elementary properties of integration, $I_{\lambda,\theta}$ is linear.

THEOREM 15. For λ in C_+ and for θ in $L^*_{\infty 1:\eta}$, $I_{\lambda,\theta}$ is a bounded linear operator with the norm $|||I_{\lambda,\theta}||| \leq 1$.

Proof. Since
$$||I_{\lambda,\theta}(G)|| \leq \sum_{m=0}^{\infty} |a_m| (||\theta||_{\infty 1:\eta})^m$$
 for

$$G(x) = \sum_{m=0}^{\infty} a_m \left(\int_{[a,b]} \theta(s,x(s)) d\eta(s) \right)^m$$

in \mathcal{M}_{θ} , from the definition of ||G||, we have

$$|||I_{\lambda,\theta}||| = \sup_{\|G\| \neq 0} \frac{\|I_{\lambda,\theta}(G)\|}{\|G\|} \le 1.$$

References

- 1. R.H. Cameron and D.A. Storvick, An operator valued function space integral and a related integral equation, J. Math. and Mech. 18 (1968), 517 552.
- N. Dunford and J.T. Schwartz, Linear operators, Part I, Wiley interscience, New York, 1958.
- E. Hille and R.S. Phillips, Functional Analysis and Semigroups, A.M.S. Colloq. Publ. 31, 1957.
- G.W. Johnson and M.L. Lapidus, Generalized Dyson Series, Generalized Feynman Diagrams, the Feynman integral and Feynman's operational Calculus Mem. Amer. Soc. 62 (1986).
- G.W. Johnson and D.L. Skoug, Operator-valued Feynman integrals of certain finite-dimensional functionals, Proc. Amer. Math. Soc. 24 (1970), 774-780.
- T. Kato, Perturbation Theory for Linear Operators, Springer-Verlag New York, 1966.
- M.L. Lapidus, The Feynman-Kac formula with a Lebesgue-Stieltjes measure and Feynman's operational calculus, Stud. Appl. Math. 76 (1987), 93-132.
- 8. M. Reed and B. Simon, Methods of mathematical physics, Vol I, II, Rev. and enl. ed., Academic Press, New York, 1980.

- 9. W. Rudin,, Real and Complex Analysis, McGrawHill, 1974.
- 10. L.S. Schulman, Techniques and applications of path integration, John wiley & Sons, New York, 1981.
- 11. J. Yeh, Stochastic Processes and the Wiener Integral, Dekker, New York, 1973.

Department of Liberal Education Daelim Junior College Anyang 430–715, Korea